(@)

TwrBsMyt, 5 pks, iter O

1e+00

1e-02

1e-04 |-

1e-06

(e)

TwrBsMyt, 5 pks, iter 25

1e+00

1e-02

1e-04

1e-06

(b)

TwrBsMyt, 10 pks, iter O

1e+00

1e-02

1e-04 |-

1e-06

(f)

TwrBsMyt, 10 pks, iter 25

1e+00

1e-02

1e-04

1e-06

()

TwrBsMyt, 40 pks, iter O

1e+00

1e-02

1e-04 |-

1e-06

v

N

@

$e}
%))
N’

TwrBsMyt, 40 pks, iter 25

1e+00

1e-02

1e-04 |-

1e-06

(d)

TwrBsMyt, 160 pks, iter O

1e+00

1e-02

1e-04 |-

1e-06

(h)

TwrBsMyt, 160 pks, iter 25

1e+00

1e-02

1e-04

1e-06




